
Installation
Hardware List Hardware List

Table top

1
Table leg

2

Table base

1
8x65mm screw

12

8x16mm screw

8
Washer

20

Hexagonal screw tap

1

1

8x65mm screw

https://manuals.plus/m/6bfa0702418e5ce8264f4d5eea356cc9314cb406a5c2d029656c5566c958008c


3

Put the table top on the
table leg, make sure the
reserved screw holes of
the table top and the
frame are corresponding,
tighten 8x16mm screws
to finish the installation.

The desktop is relatively heavy, light
with care, to avoid bumps, need
more people to help install

8x16mm screw


